The 2138 9] aABC oA £C=90° & T, sinA + cos A 9] = 73}
ofat.
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3. o2 I"E2 W2 FY do|rt 19 AR flofl A4 zE S 19
ZAo]t}. sin 50°, cos 50°, tan 50° = AE 0 2 Lpelofg},

a & sinh0° =
a &l cos50° =
L g tan50° =



@ sin32° =0.52
© cos34°=0.83
© tan36°=0.73
® 2sin42°=1.34

@ 3cos44°=2.1

2E AQl(sin) | FAHI(cos) | EH I E (tan)
31° 0.51 0.86 0.60
32° 0.52 0.85 0.62
33° 0.54 0.84 0.65
34° 0.56 0.83 0.67
o 0.57 0.82 0.70
36° 0.59 0.81 0.73
37° 0.60 0.80 0.75
38° 0.62 0.79 0.78
39° 0.63 0.78 0.81
40° 0.64 0.77 0.84
41° 0.66 0.75 0.87
42° 0.67 0.74 0.90
43° 0.68 0.73 0.93
44° 0.69 0.72 0.97
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® 10v21cm? @ 11V21cm? ® 12V21 cm?
@ 1321 cm? ® 1521 cm?



7. oS 2FA PA, PBE 9 0 9 FA4o|x /APB = 30° & ),
(ACB 9] 27|15 Fstoiet.




8. & IHAANA wx & 2y o] 2715 A= vr2A 2o A2?

@® 38°, 90° @ 48°, 80° ® 80°, 48°

@ 90°, 38° ® 98°, 30°



9. & gl 5 CD 9 Zo7t 12em & D
o, & AB 9] Zo]2 afolat. A'
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11, oA A »? -3 =02 WESh= x O] ghof tanA o] gk 22 o,
sinAcosA ©] F2? (F,0°<A<90°)
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12, o2 AZAZAEA x, y ] 3
o] g-sko] A7hu] 2 thebd 212

® x=5sin20°,y= Sin520°
@ x= tanZQO“ = 5812 20
® x= tan520° Y CO%20°
@ x= c0s20° "7 sin20°
®x=—> >

~ tan20° *° T sin20°
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15. o2 189 YO oA LCAB = 55° & o, A
(ACB 9] Z7|=?

® 50° @ 55° ® 60° @ 65° ® 70°



16. oS I-HNA zx 42y 2] gh2 F5HH?

@® 150° @ 160° ® 170°

@ 180° ® 190°




17. o5 d"A 2y — 2x 9 27]=7

@® 10° @ 20° ® 30° @ 50° ® 60°



18.

A7) 50 B

@ 126
@ 636

o2 193 gol
6, LABE = 45° ¢l

CD = §,
aarigol ge o) AP
45°
4 °F
B C
@ @ ® 48
® 96
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HPAHE ABCD 9] o2k

F Mo o7 AB=5,BC =38
olx, /B =60° Y ul, HPAIA
3 ABCD 9] go]&=?

.. ¢

@ 40 @ 20v3 ® 20v2 @ 10v3 ® 10V2
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21. o 184 9 0 = AD, DC, BC ¢ ZZ Hsigith. AD 9
Zol7F5ecm, BC 7F14em € off, € O 9] 2152 Zo]=?

C A
ém
D
@D 2470 cm @ 370 cm ® 470 cm

@ 570 cm ® 670 cm



22. T2 IHAABE Y0 9 A P
VS N\
£0]1 5.0ptAC = 5.0ptCE =
N\ N\ -
5.0ptED = 5.0ptDB, PC =
PD ¥ o}, /PCD+/PDC & =
717

® 130° @ 135° ® 140° @ 145° ® 150°



23. o& 1¥o)A oABCD & o WHs
(BPC = 30°,/ABC = 70° & o, /BQA
o] 3t FohH?
O 10° @ 20° ® 30°
@ 40° ® 50°




24. ©& 2-NAPQEF YO0, 0 9 FFHIth LABQ = 86° I
o, /DCQ °] 27|17

O 74° @ 80° @ 84° @ 90° ® 94°






